



December 20, 2021

Mike Reso
City Project Manager
City of Diamondhead Public Works
5000 Diamondhead Circle
Diamondhead, Mississippi
Sent vie Email to: mreso@diamondhead.ms.gov

Re: NRCS Channel Stabilization at Diamondhead @ Alkii Way - Change Order 4
Pickering Firm, Inc. Project No. 25748.00

Mr. Reso,

Site visits and discussions were held on Tuesday, November 23, 2021 to review the final punch list for the above referenced project.

The attached spreadsheet details the summary quantities that were used to complete the project. Differences in quantities and costs are included.

- 6-1 <u>Seeding, Sprigging, & Mulching</u> (AC) increased by 0.08 Acres to 0.27 Acres to complete stabilization of adjacent, disturbed areas.
- 6-2 <u>Erosion Control Blanket</u> (SY) increased by 387 Square Yards to 1,307 Square Yards. This addition was made to complete stabilization of adjacent, disturbed areas.
- CO1 <u>Limestone</u> (TON), Three additional tons of Limestone were added to complete the tiein of the upstream end of the concrete channel.

Items mentioned above add \$2,665.33 to the project total.

Additional stabilization using Items 6-1 and 6-2 was required for areas surrounding Item CO3.2 Concrete Flumes and along the length of the concrete channel.

Three (3) tons of Limestone were added to the upstream end of the concrete channel to complete the tieinto the existing riprap channel.

Recipient Name Subject Date Page 2 of 2

Please find a copy of the change order document requesting additional: seeding, erosion control blankets, and limestone. No additional time is requested. This request is for the summary change order for project completion.

Pickering recommends approval of Change Order No. 4 to ERS, Inc. for additional monetary amount of \$2,665.33 with an extension to the contract time of no additional calendar days. The revised contract amount is \$385,637.04 and substantial completion date of November 18, 2021.

We are available should you have any questions regarding this matter or if we can be of any assistance.

Sincerely,

PICKERING FIRM, INC.

Koby Coulon, PE Civil Engineer



Change Order No. 4 (SUMMARY)

Date of Issuance: <u>12/08/2021</u>	Effective Date: Date of full Execution below
Owner: City of Diamondhead	Owner's Contract No.:
Contractor: ERS, Inc	Contractor's Project No.:
Engineer: Pickering Firm, Inc.	Engineer's Project No.: 25748.00
Project: Channel Stabilization at Diamondhead Drive @ Alki	i Way Contract Name: <u>ERS, Inc.</u>
The Contract is modified as follows upon execution of this (
Description: Addition of: 340 Tons Item no CO1-1. Addition	of 20 working days to contract time.
Attachments: Cost breakdown, Letter from ERS, Inc.	
CHANGE IN CONTRACT PRICE	CHANGE IN CONTRACT TIMES
Original Contract Price:	Original Contract Times:
Original Contract Frice.	Substantial Completion: August 15, 2021
\$ <u>342,905.00</u>	Ready for Final Payment:
In a second from a region to a marginal Change	Increase from previously approved Change
Increase from previously approved Change Orders No. 1 to No. 3:	Orders No. 1 to No. 3:
010013110. <u>1</u> 0100. <u>5</u> .	Substantial Completion: N/A
\$ <u>40,066.71</u>	Ready for Final Payment:
	Contract Times prints this Change Order
Contract Price prior to this Change Order:	Contract Times prior to this Change Order: Substantial Completion: November 18, 2021
\$ 382 <u>,971.71</u>	Ready for Final Payment:
<u> </u>	,
Increase of this Change Order:	Increase of this Change Order:
	Substantial Completion: N/A
\$ 2,665.33	Ready for Final Payment:
Contract Price incorporating this Change Order:	Contract Times with all approved Change Orders:
	Substantial Completion: November 18, 2021
\$ <u>385,637.04</u>	Ready for Final Payment:
RECOMMENDED: ACCE	PTED: ACCEPTED:
By: By:	By: Ju Zoho
	uthorized Signature) Contractor (Authorized Signature)
Title: Project Engineer Title:	Title: Todd Roberts, President
Date: 12/20/2021 Date:	Date: 12/20/21
Approved by Funding Agency (if applicable)	
Ву:	Date:
Title:	•
EJCDC C-941, Change Order. Prepared and Contract Documents Con	published 2013 by the Engineers Joint nmittee. Page 1 of 1

NRCS - Channel Stabilization at Diamondhead @ Alkii Way NR204423XXXXC080

Pickering Firm, Inc. Pickering Project No. 25748.00

ERS, Inc. : 1635 Lelia Drive, Suite 202 Joackson, MS 39216		ł I	181	COR No. 09317-MC	MC Change	17-MC per Change Order #3	R	POF	REPORTED	DIF	DIFFERENCE	SNCE
	Description	Unit	Ď	Unit Price	Exte	Extension	Oty	H	Extension	Oty	E	Extension
CHAN	CHANNEL CLEARING & SHAPING	LF	780	\$ 62.00	\$ 48	48,360.00	780	\$	48,360.00	-	6/3	•
POLL	POLLUTION CONTROL	rs	1	\$ 5,000.00	\$	5,000.00	1	S	5,000.00	-	s	-
SEEL	SEEDING, SPRIGGING, & MULCHING	AC	0.19	\$ 2,000.00	\$	380.00	0.27	€	540.00	0.08	↔	160.00
ERO	EROSION CONTROL BLANKET	SY	920	00.9	\$	5,520.00	1,307	↔	7,842.00	387	6∕2	2,322.00
ĮŠ	CONSTRUCTION SURVEY	LS	1	\$ 3,000.00	\$	3,000.00	1	\$	3,000.00		⇔	•
MOF	MOBILIZATION AND DEMOBILIZATION	ΓS	1	\$ 13,000.00	\$ 13	13,000.00	1	& >	13,000.00	1	جه.	ı
REN	REMOVAL OF WATER	FS	1	\$ 10,000.00	\$ 10	10,000.00	1	↔	10,000.00	-	↔	•
	COMMON EXCAVATION (REMOVED FROM SITE) (LVM)	CY	414	\$ 30.00	\$	12,420.00	414	\$	12,420.00	ı	€9	•
ĬŠ	UNCLASSIFIED EXCAVATION (PM)	CY	825	\$ 22.00	\$	18,150.00	825	€>	18,150.00	1	6	•
EAI	EARTHFILL (OFF-SITE) (LVM)	CY	86	\$ 24.00	\$	2,352.00	86	\$	2,352.00	•	8	-
[5	CONCRETE PAVED DITCH (PM)	СY	290	\$ 755.00	\$ 213	218,950.00	290	\$	218,950.00	•	⇔	ı
١ŏ	LOOSE ROCK RIP RAP, 300 LB	SY	115	\$ 115.00	\$ 1.	13,225.00	115	\$	13,225.00	•	64	'
ĿĔ	limestone	TON	418	\$ 63.00	\$ 20	26,334.00	421.08	S	26,528.04	3	↔	183.33
indi	individual flumes	ea	8	\$ 500.00	\$	1,500.00	3	\$	1,500.00	1	S	-
addi	additional riprap (15'x23' Area)	SY	30	\$ 115.00	\$	3,450.00	30	€\$	3,450.00	1	89	•
grout	ļ	CY	3	\$ 440.00	\$	1,320.00	3	S	1,320.00	1	s	-
	TOTA	AL - BASE BID	E BID		\$ 38.	382,971.71		\$	385,637.04		\$	2,665.33